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£ = A(x)

L+ep=A(X°+h)

v(h) .= A(x°) + A-h - ¢
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w(h) = min w(h)
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= A(x) B(l)=c
£+ e =A(X°+h) B(l+ e )=c

~— ~—
—~= -
v(h) = A(X°) +A-h—7 B- VvV =c— B =u
w(h) := (v(h))" - P-v(h) a(v):=vl-P.v
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Reseni zprostiedkujicich a podminkovych méfeni

Zprostredkujici méreni
h=(ATPA) ' ATPK,

Cx = (ATPA)

Podminkova méreni
N —1
v=PpP BT (BP“BT) u

€L.=P'-P'B7(BP'B7) ' BP
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¢ = A(x)
£+ep=A(X°+h)

ee =A h+A(x°) -2
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v(h) :=A-h-X
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£ = A(x) t=3B(¢) = Ax)
£+ep=A(X° +h) Bl +er) = A(X° + h)

ee =A-h+A(x°) £ B-e,=A-h+A(X°) - B(L)
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v(h):=A-h-X w(h):=A-h—u
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e =A-h+ A(X°)—£ B-gp=A-h+AXx°) - B()
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v(h):=A-h-X w(h):=A-h—u
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v(h):=A-h -\ w(h):=A-h—u
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Podminkova s neznamymi

t=B(¢) = AX)
B(€ +e,) = A(X° + h)
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w(h) :=A-h—u
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Podminkova s neznamymi

t=B(Y) = A(x)
Bl + &) = A(X°

B-e,=A-h+ A
~——

~ =

w(h):=A-h—u

+h)

(x°) — B(£)
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Podminkova s neznamymi

t=B(¢) = AX)
B(€ +e,) = A(X° + h)

B-e,=A-h+ AX) - B(P)
~ = A
wh)=A-h"u
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Podminkova s neznamymi

t=B() = A(x)

B(€ +e,) = A(X° + h)
B-eo,=A-h+ A(X°) - B(¥)
~—— —_—

~
wh) =A-h~a
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Podminkova s neznamymi

t=B(¢) = A(X)
B(€ +e,) = A(X° + h)

B-c, = A-h+ AX°) — B(&)

~
wh) =A-h~a

a(h) := (w(h))" - Pr - w(h)
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w(h) := (v(h))"-Py-v(h)

w(h) = min w(h)

Podminkova s neznamymi
t=B() = AX)

B(€ +e,) = A(X° + h)
B-e,=A -h+ A(X°) - B(¥)

——

—~ =
wh) =A-h~Q

a(h) := (w(h))" - Pr - w(h)



Vyrovnani podminkovych méfeni s neznamymi
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w(h) := (v(h))"-Py-v(h)

w(h) = min w(h)

Podminkova s neznamymi

t=B() = AX)
B(€ +e,) = A(X° + h)

B-e,=A -h+ A(X°) - B(¥)
—~ = A

w(h):=A-h—u
a(h) := (w(h))" - Pr-w(h)

a(h) = IET;}IIQH a(h)
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